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XF=TH 105-1 ERTFIB ST 95-12
XF=TH 105-2 = EE 718-1
EXH=TH 105-3 = By 232-13
EXF=TH 105-3 =R 719-11
XF=TH 105-4 ERTFIBHTE 95-4
EXF=TH 105-5 SERTFIB ST 95-24
EXF=TH 105-6 SERTFIB ST 95-1
XF=TH 105-7 = Fr BT 281-10
XF=TH 105-8 SERTFIBHTE 95-3
XF=TH 105-9 ERTFIB ST 95-10
XF=TH 105-10 ERTFIBHTE 93-3
XHR=TH 105-11 ERTFIBHTE 94
XHF=TH 105-12 SERTFIB ST 93-2
XF=TH 105-13 ERTFIBHTE 93-3
EXF=TH 105-14 SERTFIB ST 93-1
EXF=TH 105-15 ELIESCEV 88-4
EXH=TH 105-16 ERFBHTE 95-13
EXH=TH 105-16 ERIFBHTE 95-15
EXHF=TH 105-16 SERTFIB ST 95-26




